
SYLLABUS RAGA 

 

Reasoning (Verbal and Non- Verbal )  

 

1. Numerical series. 

2. Distance and Direction sense Test. 

3.  Mathematical Operations 

4. Number, Ranking & Time Sequence Test. 

5. Assign Artificial Values to Mathematical Digit. 

6. Inserting Correct Mathematical sign. 

7. Human relation.  

8. Coding & Decoding 

9. Odd man out. 

10. Mutual relation problems.  

11. Tallest, youngest relations. 

12. Dictionary woods.  

13. Analogy. 

14. Non- Verbal reasoning. 

15. Number coding. 

16. Number Puzzle. 

 

Mathematics 

 

1. Ratio and Proportion. 

2. Average.  

3.        LCM & HCF. 

4. Profit and Loss. 

5. Time, Distance and Speed. 

6. Percentage.  

7. Simplifications of Numbers. 

8. Fractions.  

9. Area of triangle, Square and Rectangle.  

10. Surface Area and volume of Cuboids,  

           Cylinder, Cone and Sphere. 

11. Probability.  

12. Simple Trigonometry. 

 

General Knowledge and Current Affairs 

 

1. General Science 

2. Civics 

3. Geography 

4. Current Events 

5. History 

6. Basic Computer Operations 

 

 



MODEL QUESTION PAPER 

REASONING AND GENERAL AWARENESS (RAGA) 

Q.1.   ‘rDar’ Wara, iksaI jahaj,a kI isqait jaananao hotu, inamna maoM sao ikna trMgaaoM ka p`yaaoga ikyaa jaata hO ? 

Which type of waves are used by a ‘RADAR’ for detecting the presence of an aircraft?  

 (A) Qvaina trMgaoM / Sound Waves  (B) roiDyaao trMgaoM / Radio Waves  

(C) vaOVut trMgaoM / Electric waves  (D) praEavya trMgaoM / Ultrasonic Waves  Ans: B 
 

Q.2. AaOrMgajaoba Wara isaKaoM ko kaOna sao gau$ kao maR%yau-dND idyaa gayaa qaa ?   

Who among the following Sikh Gurus, was executed by Aurangzeb ? 

(A) gau$ Ajau-na dova / Guru Arjun Dev   (B)gau$ gaaoivand isaMh / Guru Govind Singh  

(C) gau$  toga bahadur / Guru Tegh Bahadur  (D) gau$ naanak dova / Guru Nanak Dev Ans: C 
 

Q.3. ‘yaaogaxaomaM vahamyahma \’, iksa SaasakIya inayaMi~t saMsqaa ka AadSa--vaa@ya hO ? 

 Which Government controlled organisation has its motto ‘Yogakshemam 
 Vahamyahum’ ? 

 (A) BaartIya jaIvana baImaa inagama /Life Insurance Corporation of India 

 (B) kond`Iya AnvaoYaNa byaUrao /Central Bureau of Investigation  

(C) kond`Iya maaQyaimak iSaxaa baaoD- /Central Board of Secondary Education  

(D) BaartIya sToT baOMk samaUh /State Bank of India Group    Ans: A 
 

Q.4. _______ kao ‘hjaar JaIlaaoM kI BaUima’ kha jaata hO.   

_______ is called ‘the land of thousand lakes’. 

(A) isvaTja,rlaOMD / Switzerland   (B) svaIDna / Sweden  

 (C) knaaDa / Canada    (D) ifnalaOMD / Finland           Ans: D 
 

Q.5. maR%yau dND sao xamaadana ka AiQakar, inamna maoM sao iksako pasa hO ? 

Who among the following has been vested the exclusive power to grant pardon in 
 case of death sentence. 

 (A) Baart ko raYT/pit / President of India  

(B) Baart ko p`QaanamaM~I / Prime Minister of India  

(C) Baart ko p`Qaana nyaayaaQaISa / Chief Justice of India    

(D) Baart ko saa^ilaisaTr janarla / Solicitor General of India      Ans: A 
  

Q.6. ‘gabaa -’ iksa p`doSa ka p`isaw laaoknaR%ya hO ? 

        Of which of the following states, is ‘Garba’, a famous folk dance ?  

 (A) AanQa` p`doSa / Andhra Pradesh  (B) gaujarat / Gujarat  

(C) ibahar / Bihar    (D) pMjaaba / Punjab   Ans: B 
 

Q.7. Amaoirka ko iksa ivaSaoYa kaya- bala Wara, AatMkvaadI Aaosaamaa ibana-laadona kao Kaojaa va maara gayaa ? 

By which of the following Special Task Forces of USA, was the terrorist Osama Bin-
Laden, searched & killed? 

 (A) maorInsa / Marines    (B) ha^k / Hawks  

 (C) naovaI saIlsa / Navy Seals   (D) fa^@sa / Foxes                        Ans:C
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Q.8. yaid  3
347

325
ba 




  hO tao a AaOr b ka maana &at kIijae .   

 Find the value of a and b, if 3
347

325
ba 




. 

 (A) a= -11, b=-6 (B) a=-11, b=6 (C) a=11, b=-6 (D) a=6, b=11 Ans: C 
  

Q.9. dao sToSanaaoM x AaOr y ko baIca kI dUrI 778 ikmaI hO . ek rolagaaD,I x sao y tk kI dUrI 84 ikmaI/GaNTa 

 kI caala sao tqaa vaapsaI kI yaa~a 56 ikmaI/GaNTa kI caala sao tya krtI hO . pUrI yaa~a ko ilae, 

 rolagaaD,I kI AaOsat caala ikmaI/GaNTa maoM &at kIijae . 

Distance between two stations x and y is 778 km.  A train covers the journey from x to 
y at a speed of 84 kmph and returns to x with a speed of 56 kmph. Find the average 
speed of the train (in kmph ) for the whole journey. 

 (A) 67.2  (B) 70   (C) 68   (D) 72  Ans: A 
 

Q.10. 50 p`oxaNaaoM ka maaQya 36 hO . baad maoM pta calaa ik ek p`oxaNa 48 kao galatI sao 23 lao ilayaa gayaa hO. 

p`oxaNaaoM ka sahI maaQya &at kIijae . 

The average of 50 observations is 36. It was found later that an observation 48 was 
wrongly taken as 23.  Find the correct average of the observations. 

 (A) 35.2   (B) 36.1   (C) 39.1   (D) 36.5        Ans: D 
 

Q.11. tIna saM#yaaAaoM ka yaaoga 136 hO .yaid phlaI AaOr dUsarI saM#yaaAaoM ka Anaupat 2:3 hO AaOr dUsarI AaOr tIsarI 

saM#yaa ka Anaupat 5 : 3 hO tao dUsarI saM#yaa &at kIijae . 

The sum of three numbers is 136.  If the ratio between first and second is 2:3 and that 
between second and third is 5:3. Find the second number. 

 (A) 40   (B) 48   (C) 60   (D) 72      Ans: C 
  

Q.12. 45 vyai@t, ek kama kao 16 idna maoM kr sakto hOM. 6 idna kama krnao ko baad 30 vyai@t AaOr Saaimala 

 hao jaato hOM . Aba saBaI kao, bacaa huAa kaya- samaaPt krnao maoM iktnao idna AaOr lagaoMgao ? 

45 men can finish a task in 16 days. After 6 days, 30 more men join them. How many 
days, will they all, now take to complete the remaining task? 

 (A) 6    (B) 8    (C) 10   (D) 12   Ans: A 
 

Q.13. &at krao, iksa raiSa pr 10% vaaiYa-k byaaja kI dr sao, 3 saala ko cakvaRiw byaaja AaOr saaQaarNa byaaja 

 ka Antr, ` 31 haogaa ? 

 Find out the sum, for which the difference, between the compound and simple 

 interest, for 3 years at the rate of 10% per annum, would be ` 31? 

 (A) Rs1500   (B) Rs 1200  (C) Rs 1600  (D) Rs 1000 Ans: D 
 

Q.14. vah nyaUnatma saM#yaa &at krao ijasao 8,12, 20 yaa 25 sao ivaBaaijat krnao pr p`%yaok dSaa maoM 5SaoYa rhta hao . 

Find the smallest number, which when divided by 8, 12, 20 or 25 leaves a  remainder 
5 in each case? 

 (A) 595  (B) 605   (C) 1205  (D) 1195     Ans: B 
 

Q.15. ek AadmaI ApnaI Aaya ka 75% Kca- krta hO . yaid ]sakI Aaya maoM 20% kI vaRiw, hao AaOr Kcaao-M maoM 

10% kI vaRiw, hao tao ]sakI bacat maoM % vaRiw &at kIijae . 

A man spends 75% of his income. If his income increases by 20% and his 
expenditure increases by 10% then find the % increase in his savings. 

 (A) 40%  (B) 30%  (C) 50%    (D) 60%  Ans: C 
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Q.16. ivajaatIya &at kIijae . 

Find the odd one out. 

 (A) imaraja 2000 /Mirage 2000      (B) sauKao[--30  MKI /Sukhoi-30 MKI 

 (C) imaga-29 /MiG-29    (D) imaga-27 /MiG-27                      Ans: A 
 

Q.17. ivajaatIya &at kIijae. 

Find the odd one out. 
 
 
(A)         (B) 
 
 
 

 
(C)            (D) 

 

 
 
      Ans: D 

 
Q.18. yaid iksaI kUT BaaYaa maoM ‘786’ ka Aqa- ‘study very hard’, ‘958’ ka Aqa- ‘hard work pays’ AaOr      

‘645’ ka Aqa- ‘study and work’  hO tao ]sa kaoD BaaYaa maoM ‘very’ ka kUT &at krao . 
If, in a code language ‘786’ means ‘study very hard’, ‘958’ means ‘hard work pays’ 
and ‘645’ means ‘study and work’ then find the code for ‘very’? 

 (A) 8   (B) 7   (C) 6   (D) 9       Ans: C 
 

Q.19. inamnailaiKt saM#yaa EaRMKlaa kao pUNa- kroM. 

Complete the following number series. 
 1,  4,  2,  8,  6,  24,  22,  88, ___.  
 (A) 90   (B) 89   (C) 160  (D) 86     Ans: D 
 

Q.20. ek prIxaa, maoM ek Ca~ nao p`%yaok sahI ]<ar ko ilae 4 AMk p`aPt ikyao va p`%yaok galat ]<ar ko ilae 1 

AMk Kaoyaa . yaid ]sanao saBaI 75 p`Sna hla ikyao AaOr kula 125 AMk p`aPt ike tao ]sako Wara, sahI hla 

ikyao gae p`SnaaoM kI saM#yaa &at krao . 
In an examination, a student scores 4 marks for every correct answer and loses 1 
mark for every wrong answer. If he attempts all 75 questions and secures 125 marks 
then find the number of questions, attempted correctly. 

 (A) 35   (B) 40   (C) 42   (D) 46      Ans: B 
 

 Q.21. dI ga[- saarNaI maoM lauPt saM#yaa &at krao . 

Find the missing number in the given table. 
  
  

 (A) 29   (B) 31   (C) 28   (D) 33  Ans: A 
 

Q.22. caar vyai@t A, B, C va D taSa Kola rho hOM . A AaOr B saaJaodar hOM . yaid D ka mau^h ]<ar kI Aaor hao 

tqaa A ka mau^h piScama kI Aaor hao tao iksaka mau^h dixaNa kI Aaor haogaa ? 
Four persons A, B, C and D are playing cards. A & B are partners.  If D is facing 
North and A is facing West, then whose face is towards South ? 

 (A) C   (B) B   (C) D   (D) A         Ans: A 
 

5 8 7 

11 17 15 

21 33  



Q.23. inado-Sa : ]<ar ko $p maoM savaao-<ama ivaklp ka cayana kroM .  

Direciton : Choose the best alternative as the answer. 

        ‘Ktro’ maoM hmoaSaa _______ haota hO . 

           Danger always involves __________. 

(A) Sa~u /Enemy (B) hmalaa /Attack (C) Dr /Fear      (D) sahayata /Aid      Ans: C 
 

Q.24. yaid + ka Aqa-  ,   ka Aqa- -, -  ka Aqa-   AaOr   ka Aqa- + hO tao 8+23 - 46 ka maana &at 

krao . 

Evaluate  8+23 - 46, if + means  , means - ,  - means    and    means +.  
 (A) 0   (B) 1   (C) -2   (D) 3               Ans: C 
 

Q.25. Da^@TraoM, vakIlaaoM AaOr poSaovaraoM ko samaUh ko baIca sahI sambanQa dSaa-nao vaalaa vaona AaroK kaOna saa hO ? 

 Which of the following Venn diagrams, depicts the correct relation among Doctors, 
Lawyers, Professionals? 

                                                 
 
 
             Ans: A 

naIcao ide gae p`%yaok p`Xna (p`Xna saM#yaa 26-30) maoM, ]<ar ica~aoM A, B, C tqaa D maoM sao vah ica~ cauinayao jaao baa[-M -Aaor 

dI ga[- EaMRKlaa kao pUNa- krta hO.  

In each  of the following Question (Q. No. 26-30), find the figure from the Answer 
figures A, B, C and D which would complete the series given on the left side. 
                  A            B     C        D 
  
Q.26.   
 
 
 

            Ans: C 
  
Q.27. 
  

     
 
            Ans: A 

   

Q.28. 
 

 
               
       Ans: A 
 

Q.29. 
 
 

 
                     Ans: B  
Q.30. 
 

 

            Ans: A 

(A) (B) (C) (D) 


